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SOCIOLOGY

Paper 11
Time Allowed : 1) Hours] : IMaximum Marks : 100
Note :— This question paper contains fifty (50) questions with multiple choice

T.BC =

answers. Fach question carries two (2) marks. Altempt all questions.
Who is the main champion of Formal Sociology ?
(A)  Auguste Comte iB) George Simmel
() Emile Durkheim ' {Dy P. Sorokin

“Sociology 1z the study of systems of action and of their interrelations” Who

said this 7

(A). E. A. Ross B} ‘A W. Green

(C)  Alex Inkeles 1)y  Gillin and Gillin

............... ceviemiieesiiennieseeenc0Olds that human social world is different from the

natural world.

(A}  Scientific perspective

(B)  Humanistic porspective
(C)  Interactionist persp'ective

(D)  Interpretative perspeclive
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4. R. E. Park defines community in terms of.........

(A)  Geographical unit : (B)  Conscious unit

(C) Ide!?tity unit (D) Collective unit
5. According to W.G. SBumner, institutions are of two types

- Crescive and.................. ;

{A)  Cultural (B)  Recreational

(C}  Enacted - | {D)  Economic

6.  Who is associated with the theory of cultural-lag ?

(A) E.B. Tylor (B} ~ W.F. Ogburn
(G} R. Redfield (D) Clyde Kluckhohm
Bt AT AR st is a pioneer Indian sociologists who initiated the study of

social values.
(A}  G.S, Ghuryo . (B)  R.EK. Mukerjee

(C) K. M. Kapadia (D} M. N. Srinivas
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8. The main characteristic/characleristics of 2 social structure are -
{A) . Parts and sub-parts
i) Interrelation betwetm.pat‘ts
{C)* Parts are relatively stable and permanent
(D) All of the above
9. Who argued that aseribed status has rapidly declined ss a means of access

to economic and political power in modern societies ?
{A] K. Dayis ' (B) R. Linton
(Cy  H. M. Johnszon (D) Max Weber

10.  According Lo Merton, the varicus roles associated with occupying a particular

status when combined is known as............... siie
(A} Group role (B} Cembined role
iy  Role set ' (D) Role task

T.B.C. : 1414/ET-11 o
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11.  Social group reguires three things for its formation : (1) reciprocal stimulus.

(2) responses and {3)...ooiieiiiciiiae. 2
(A} DMutual Awareness Bl Indirect Communication
iC}  Same Setting (D) Same Class

12, “Primary groups are the bases of all social life.” Who said this ?

tA)  E. A. Shils ' — {Bl C. II. Cooley

{C)  Kimball Young : (1)  Gillin and Gillin
13. In Gemeinschaflt relationships are. ... ;

iA)  Personal (B! Impersonal

(3}  Formal i)  Segmental

14. Totemism excluded: the worship of :
(A}  Animals - (B)  Trees

{C)  BSelected objects (D)  Gods and Goddesses

T.B.C. : 14 14ET-1I 8
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TR =

The family in which one is born and reared 18 called !

(&) Family of procreation (B) Family of orientation

() Extended family . (D} Joint family "

Marx hel.d ............................ to be the result of explpitation and the cause of ¢
conflict.

(A) Wealth (B} Private propertly

{(C) Land | (1)) Banks
Anarchism represents an extreme form of :

(A) Socialism (B) Individualism
{C} Communism {1 Capitalism
C. H. Cooley’s tl.leory of socialization is related to :

(A) Looking glass self (B1 I and Me

(Y  Significant others (D} Game stage
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20.

21,

22.

LB.C. :

........................................... refers to the process of socialisation in which 1 person

‘rehearses’ for future positions.

(A)  Resocialisation (B} Anticipatory socialisation
(C)  Reverse socialisation (I Negative socialisatlion
.................................... in which the boys’ attachment to the mother is combined

with jealous hostility towards the father.

(A} Self complex (B) Hate complex
{C) Ocdipué complex (13 Indifferent complex

The resull of hierarchical arrangement is |
(A)  Social stratification By  Social value
(C)  Social process (D} Social pattern

Who pointed out that in a sociely, there is nover an equal distribution of

goods and opportunities ?
{A)  Max Weber (B)  Karl Marx

(Cy K. Davis (D} 1I. Kant
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12 e ¢ o R LT » the people of various strata were identified by the rights%

they had and the¢ duties they were expected to perform.

(A) Estate system (B}  Ascriptive syziem

() Racial system (1)  None of these
24.  ‘Castes are known as closed classes,” Who said this ?

(A T N. Majumdar (B} M. N. SBrinivas

(()  Andre Beteille (M} Yogendra Singh

25.  ‘Relatively high rate of upward mebility is viewed as a ‘political safety value.

Who zaid this ?

{A) P. Sorokin (BY M. Tumin

{Cy R. Dahrendorl (D)  Frank Parkin

T.B.C. ¢ 14N4ET-11 14
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26  Progressig .o liiaaaiiiens term.
{A) Neutral (B) Negative

{C)  Undesirable (D} Evaluative

27.  Cyelical tfxeor_y of social change is explained by :

(A) Oswald Spengler {B} Arnold J. Toynbee
(Cy P, A Sorokin (D)  All of these
28, According £ MEYE. . iicassoitioisinmnnss is objective reality, existing outside and

independent of mind.
(A) Matter (B) Man
(C) Nature (D) ldea
28, A class-in-itself’ becomes 4 ‘class-for-itself” with the development of :
(A)  Class consciousness (B) Organisation

(C) Both (A) and (B) (D) Neither (A) nor {(B)

T.B.C. ; 14/14/ET-II 16
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31.

32.

T.B.C. ;

................................................ ideas are the form of social change through ideational

factors,

(A} Economy . (B} Technology

{C) Secular (1) Industry

Radelidle Brown’s first ethnographie stﬁdy was on the................

(A} Nicobar Islands

{B)  Andaman Isl:ands

(C)  Jersey Island

(D} Pacific Island

‘Social slructure is a model behind reality.” Who said this ?
(Al Levi-Strauss

(B) Radecliffe-Brown

(C)  S.F. Nadel

(D}  Taleott Parsons

14/ 14/ET-T1 18
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According to Durkheim, specialization of labour marks :
(A)  Primitive society (B)  Mechanical solidarity
(C) Corporate society (D)  Organic solidarity

According to Parsons, every social system performs various functions

including :

(A)  Adaptation (B)  Goal attainment

(C) Integration (D) All of these

For Malinowski the concept of function was more of 8/80.......coooovovvomiooo
device,

(A)  Explanatory (B) Experimentgl

(C)  Hypothetical (D)  Heuristic

T.B.C. : 1414/ET-11 20
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36.

37.

38.

Merton sought to relate data with theory by developing @.......veverevecnriniinnes of

functional analysis.

{A) DPyramid - {B)  Superstructure
{C) Paradigm (D} Castle 1
............................ is used to achieve certain subjective goals adapting means that

are effective in attaining ends. ' A

(A)  Value-rational action (B)  Affoctive action
()  Zweckrational action (D)  Traditional action
According to Parecto, concrete logical action should use the........c.o i,

scientific method.

(A) Value deductive (B) Logico experimental
(C) Value inductive () None of these
; 14N4/ET -1 22
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39.  Symbolic Interactionism emphasises......c....c...... R
(A Culture
(B} External deferminants of behaviour
(C}  Structural units of society
(D) Subjective process
40.. Which of the following pairs is not correctly matched ?
(A)  GIL Mead and Symbolic Interaction
(B)  BE. Durkheim and Functionalizm

(C)  Herbert Blumer and Symbolic Interactionism

(I Max Weber and Social Fact

41.  Any tentafive statement which is liable to prove or disprove is 2.,

(A)  Hypothesis (B)  Concept

{C)  Theory (13} Fact

TB.C. : 14/ 14/ET-11 24
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42.  The book on, ‘Scientific Social Survey and Research’ is written by :

{A)  Goode and Hatt (B! A, Kaplan

(C)  PYV. Young (D}  C. Hampel

43. Research conducted for the purpose of developing scientific theories is

known as :
(A}  Applied research {B} Basi¢ research

(C) TIndividual research (D) Aection research
44.  Any plan for the collection, analysis and evaluation of data is framed in :
(A) TRandom research (B) Motivational research

(C)  Research design (D) None of these

T.B.C. : 14A14/ET-II 26
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45. A sample sclected purely on the basis of convenicnce is known

B v i 3
(A)  Accidental sample (B} Probability sample
(C}  Random sample (D} Quota sample

46. A good sampling has basic requirements :

(A)  Representative (B) Adequate

(C) Both (A) and (B) (D) None of these
-7 (RO PSSR DR e 18 most usefl.-h in exploratory studies.

{A) Case study (B} Diagrams

{(C) Both (A) and (B? (13}  Observation

T.B.C. : 14 14/ET-1I 28
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49,

1 RUORKACLOON ) M e ubservalion participating in many activities to avoid

_complete non-participation.

(A) " Complete participant (B)  Intensive parlicipant
(C}  Quasi-participant (D) None of these

.................................... is a way of organising social data so as to preserve the

unitary charactor of the social object being studied.
(A)  Content analysis (B)  Casc study
(C)  Quantitative method (D) Questionnaire

Coding is an operation by which data are organized, and 1 number

QF s icossnnpiyimssonipaisiot 1s given to cach item.
(A}l Diagram (B) Picture
(C)  Symbel (1) Bar

T.B.C. : 1414/ET-II H30
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